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Ex/Phil/PG/3.5.6/70/2017

MASTER OF ARTS EXAMINATION, 2017

(2nd Year, 3rd Semester)

PHILOSOPHY

(Philosophy of Mind - II)

Full Marks : 30 Time : Two Hours

Use a separate Answer-Script for each Group.

The figures in the margin indicate full marks.

Group - A / øıˆ¬±· - fl¬

1. (a) What is the realism - eliminativism debate about Folk
Psychology ?

(b) State two arguments against eliminativism. 5+5=10

1ºïfl¬ó Folk Psychology øı¯∏À˚˛ ıdı± › ¬Ûøı˛ıÊ«Úı± ¤ı˛ øıÓ¬fl«¬øÈ¬

fl¬œ ∑

ï‡ó ¬Ûøı˛ıÊ«Úı±Àı˛ øıèÀX¬ ≈øÈ¬ ˚≈øMê Î¬◊À{°‡ fl¬ı˛º 5+5=10

Or / ’Ôı±

2. Critically explain two solutions to the problem of other minds
that are rejected by Graham. 10
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2º ’ÀÚ…ı˛ ˜Ú ¸—Sê±ôL√ ¸˜¸…±ı˛ Œ˚ ≈øÈ¬ ¸˜±Ò±Ú ·Ë±˝±˜ ‡±øı˛Ê fl¬Àı˛Ú

Œ¸˝◊ ≈øÈ¬ ¸˜±Ò±Ú ¸øı‰¬±ı˛ ı…±‡…± fl¬ı˛º 10

3. (a) What is Folk Psychology ?

(b) What is the claim of the Theory Theory ?

(c) Briefly state the causal Picture of Thoughts. 2+2+1=5

3ºïfl¬ó Folk Psychology fl¬œ ∑

ï‡ó øÔÀ˚˛±øı˛ øÔÀ˚˛±øı˛ı˛ ±øıøÈ¬ fl¬œ ∑

ï·ó Causal Picture of Thought ¸—Àé¬À¬Û Î¬◊À{°‡ fl¬ı̨º

2+2+1=5

Or / ’Ôı±

4. State the inference to the best explanation about other minds
in short. 5

4º ’Ú… ˜Ú ¸•ÛÀfl«¬ ‘inference to the best explanation’ ¸—Àé¬À¬Û

Î¬◊À{°‡ fl¬ı˛º 5
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Group - B / øıˆ¬±· - ‡

5. Critically discuss the arguments given by Freud for admitting
the existence of unconscious mental states. Can Freud admit
ontological dependence of the unconscious mind on the
conscious ? Discuss. 8+2=10

5º øÚ:«±Ú ˜±Úø¸fl¬ ’ı¶ö±ı˛ ’øô¶∏Q ¶§œfl¬±Àı˛ı˛ ÊÚ… ÙË¬À˚˛ÀÎ¬ı˛ Œ›˚˛±

˚≈øMê&ø˘ ¸øı‰¬±ı˛ ’±À˘±‰¬Ú± fl¬ı˛º ÙË¬À˚˛Î¬ øfl¬ ¸À‰¬Ó¬Ú ˜ÀÚı˛ ›¬Ûı˛

øÚ:«±Ú ˜ÀÚı˛ ¸M±·Ó¬ øÚˆ«¬ı˛Ó¬± ¶§œfl¬±ı˛ fl¬ı˛ÀÓ¬ ¬Û±Àı˛Ú ∑ ’±À˘±‰¬Ú±

fl¬ı˛º 8+2=10

Or / ’Ôı±

6. How would an ‘experientialist’ argue against ‘scientism’ in
psychotherapy ? Do you find these arguments acceptable ?
Give reasons. 8+2=10

6º ˜ÀÚ±ø‰¬øfl¬»¸±ı˛ Œé¬ÀS Δı:±øÚfl¬ ¬ÛXøÓ¬ı˛ Î¬◊¬Ûı˛ ’øÓ¬øı˛Mê øÚˆ«¬ı˛Ó¬±ı˛

øıèÀX¬ ‘experientialist’-ı˛± fl¬œ ≈̊øMê ŒÚ∑ Ó≈¬ø˜ øfl¬ ¤ ◊̋ ¸ı ≈̊øMê

·Ë˝ÌÀ˚±·… ıÀ˘ ˜ÀÚ fl¬ı˛∑ ˚≈øMê ±›º 8+2=10
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Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. How does Freud argue in favour of using the term ‘sex’ in
an extended sense ? Do you find the arguments tenable ?
Discuss. 5

7º ëŒ˚ÃÚÓ¬±í ˙søÈ¬Àfl¬ ı…±¬Ûfl¬Ó¬ı˛ ’ÀÔ« ·Ë̋ Ì fl¬ı˛±ı˛ ¬ÛÀé¬ ÙË¬À ˛̊Î¬ fl¬œ ≈̊øMê

ŒÚ∑ Ó≈¬ø˜ øfl¬ ¤ ◊̋ ≈̊øMê&ø˘ ˚Ô±˚Ô ıÀ˘ ˜ÀÚ fl¬ı˛∑ ’±À˘±‰¬Ú± fl¬ı˛º

5

Or / ’Ôı±

8. How does Popper try to show that Psychoanalysis is not a
science ? 5

8º ¬Û¬Û±ı˛ fl¬œˆ¬±Àı Œ‡±ÀÚ±ı˛ Œ‰¬©Ü± fl¬Àı˛Ú Œ˚ ˜ÀÚ±øıÀù≠¯∏ÌÀfl¬ ëøı:±Úí

ı˘± ˚±˚˛ Ú± ∑ 5

—————
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